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Q.2 Students having face persistent challenges in reading the text and
comprehending the long passages.

Options 1. Locomotor disability
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4. Dyslexia
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Q.3 The cognitive ability that comes in pre-operational period is -
Options 1. Ability of goal-directed behaviour
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4. Ability for abstracting thing
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Q.5 ltis important to the misconceptions among students.
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Q.24 Which of the following has NOT been promoted by National Education Policy, 2020 in
context of education of students with disabilities?

Options 1. One-on-one teachers and tutors

2. Compulsory Special Education

3. Suitable technological interventions
4. Appropriate infrastructure
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Q.25 Which of the following is an example of use of fine motor skills?
Options 1. Scribbling

2. Walking

3. Jumping

4. Running
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Q.26 The ability to use language fluently and flexibly to express one’s thinking is a characteristic
of intelligence in Howard Gardner's theory.

Options 1. naturalistic
2. spatial

3. intrapersonal
4. linguistic
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Q.20 Following three statements have been given in the context of teaching numbers to students of early primary classes:

(a) Encourage students to think about number and quantities of objects when these are meaningful to them
(b)Encourage students to learn counting by recalling number names
(c) Encourage students to make sets with movable objects

Which of the above statement(s) is/are correct?
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2. (a)and (c)

3. Only (b)

4. (byand (c)
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Q.2 Identify the most appropriate feature of a unit plan from the following statements.
Options 1. It is a sum of more than ten lesson plans of a chapter.

2. Details of teaching-learning activities for each lesson plan is included.

3. Ideally, it includes over ten lesson plans.

4. 1t is planning fora large block of subject matter which is a.cohesive whole
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1. vt o % 1 s 5 T BT UT3E T % et 3T femtea A
2. e Toreft ek et fereie ¥ Sul wh — fo e et w9 5 vae A
3. ST 5 AR e STe F1T (e e are ||
4. T3 T o i@l 5107 ut ATt 6 STges|

Options 1. 1

2.2

3.3
4.4

Question Type : MCQ
Status : Answered

Chosen Option : 1




¥ orfemt @ s
1. feat Hia T o
2. FfeaT AT STt it atE e 8
3. qfeAT T 3 T HR W A7 =)
4. FETT T TE=H F TR A | F= =12

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option: 1

Q.26 g fomameff weeft am o o #, 3% STut AT 1 O T AT 2 S @ A R o
T T VeI T AT T I S R WA €2
1. STETOEF e 2T WA WTST § UG 3T 3 O T3mamsff =t s70= wTaT 7 mres &2 3
2. ST Hi R AT AT T AT T GEAAA FAT ACE AR AL FT ST AT F g A
rafe T &t =fE
3. STEATT T=ait i1 SR SR TWT T ST 0 o STA{ & 31 o e o I ST A wed 2]
4. STETTF 1 TE 9T A =T T 310 fratiat = uem 2, et s e e w0
Options 1. 1
2.2
3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option: 3

Q27 refig forer ifer 2020 T wTSTSAT 3 S Fi ST e w0 & w2
| Teramreret fare o fafeet aftv Aeafi =won 3 2= Sfafen fawey & =7 4|
2. ForiT 97 3 i v o & wUH|
3. ferarereit foment % Sf=Tel-=wn & S erfafe famed % &0 3|
4. Tararrere e % Seafties =701 % SR Uah Sl fSehod S Ush U=k WTuT 3 &9 4|

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1




Q.28

T ST FHT  FE HE, S E A UA o FEATAT 2 S AT 3 o, e s s e 8]
FTeFeT Faedt o Tfatatit 5 S 82

|. I AT

2. TTF ATFAT

3, TR ST

4, I SR

Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Status : Answered
Chosen Option : 3
Q.29
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4, T H T G U g A
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Status : Answered
Chosen Option : 4
O30 Hreft T AT 22
1. Torelt TR &0 =T WIS T S AT T
2. Toreft wep & formTe o ST gt e o o ST SR S i a
3. Torddlt 1 Tamie © Eey T &7 A S e =)
4. TR AL AT ST S0 1 T 7|
Options 1. 1
2.2
3.3
4.4
Question Type : MCQ
Status : Answered
Chosen Option: 1
Section : Language Il




Comprehension:

Directions : Read the passage given below and answer the guestions
that follow by choosing the correct/most appropriate options:

Healthcare has become one of India’s largest sector, both in terms
of revenue and employment. Healthcare comprises hospitals,
medical devices, clinical trials, outsourcing telemedicine, medical
tourism, health insurance and medical equipment. The Indian
healthcare sector is growing at a brisk pace due to its strengthening
coverage, services and increasing expenditure by public as well as
private players.

Indian healthcare system is categorized into two major components:
public and private. The public healthcare system comprises limited
secondary and tertiary care institutions in key cities and focuses on
providing basic healthcare facilities in the form of primary
healthcare centres (PHCs) in rural areas. The private sector provides
majority of secondary, tertiary and quaternary care institutions with
major concentration in metros and tier | and tier Il cities.

India’s completive advantage lies in its large pool of well-trained
medical professionals. India is also cost competitive compared to its
peers in European and Western countries. The cost of surgery in
India is about one-tenth of that in the US or Western Europe India
ranks 145 among 115 counters in terms of quality and accessibility
of healthcare.

SubQuestion No : 1

Q@1 Which of the following is NOT TRUE according to the
passage?
The popularity of the Indian healthcare sector in the world
healthcare market is due to

1. quality treatment.
2. low cost of surgical procedures.
3. free rehabilitation services for two weeks.
4. a pool of highly experienced medical professionals.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option: 1




Comprehension:

Directions : Read the passage given below and answer the guestions
that follow by choosing the correct/most appropriate options:

Healthcare has become one of India’s largest sector, both in terms
of revenue and employment. Healthcare comprises hospitals,
medical devices, clinical trials, outsourcing telemedicine, medical
tourism, health insurance and medical equipment. The Indian
healthcare sector is growing at a brisk pace due to its strengthening
coverage, services and increasing expenditure by public as well as
private players.

Indian healthcare system is categorized into two major components:
public and private. The public healthcare system comprises limited
secondary and tertiary care institutions in key cities and focuses on
providing basic healthcare facilities in the form of primary
healthcare centres (PHCs) in rural areas. The private sector provides
majority of secondary, tertiary and quaternary care institutions with
major concentration in metros and tier | and tier Il cities.

India’s completive advantage lies in its large pool of well-trained
medical professionals. India is also cost competitive compared to its
peers in European and Western countries. The cost of surgery in
India is about one-tenth of that in the US or Western Europe India
ranks 145 among 115 counters in terms of quality and accessibility
of healthcare.

SubQuestion No : 2

Q@2 \Which part of speech is the underlined word in the

following sentence?

India is also cost competive to its peers inwestern
countries.

Adjective
Adverb
Pronoun
Conjunction

i SN -

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option: 1




Comprehension:

Directions : Read the passage given below and answer the guestions
that follow by choosing the correct/most appropriate options:

Healthcare has become one of India’s largest sector, both in terms
of revenue and employment. Healthcare comprises hospitals,
medical devices, clinical trials, outsourcing telemedicine, medical
tourism, health insurance and medical equipment. The Indian
healthcare sector is growing at a brisk pace due to its strengthening
coverage, services and increasing expenditure by public as well as
private players.

Indian healthcare system is categorized into two major components:
public and private. The public healthcare system comprises limited
secondary and tertiary care institutions in key cities and focuses on
providing basic healthcare facilities in the form of primary
healthcare centres (PHCs) in rural areas. The private sector provides
majority of secondary, tertiary and quaternary care institutions with
major concentration in metros and tier | and tier Il cities.

India’s completive advantage lies in its large pool of well-trained
medical professionals. India is also cost competitive compared to its
peers in European and Western countries. The cost of surgery in
India is about one-tenth of that in the US or Western Europe India
ranks 145 among 115 counters in terms of quality and accessibility
of healthcare.

SubQuestion No : 3

Q@3 Read the following statements

A. The private healthcare sector is playing an important
role in populatien control.
B. Medical tourism is a fast growing sector in India.

Ais false and Bis true
Both A and B are false.
Alis true and B is false.
Both A and B are true.

S =

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2




Comprehension:

Directions : Read the passage given below and answer the guestions
that follow by choosing the correct/most appropriate options:

Healthcare has become one of India’s largest sector, both in terms
of revenue and employment. Healthcare comprises hospitals,
medical devices, clinical trials, outsourcing telemedicine, medical
tourism, health insurance and medical equipment. The Indian
healthcare sector is growing at a brisk pace due to its strengthening
coverage, services and increasing expenditure by public as well as
private players.

Indian healthcare system is categorized into two major components:
public and private. The public healthcare system comprises limited
secondary and tertiary care institutions in key cities and focuses on
providing basic healthcare facilities in the form of primary
healthcare centres (PHCs) in rural areas. The private sector provides
majority of secondary, tertiary and quaternary care institutions with
major concentration in metros and tier | and tier Il cities.

India’s completive advantage lies in its large pool of well-trained
medical professionals. India is also cost competitive compared to its
peers in European and Western countries. The cost of surgery in
India is about one-tenth of that in the US or Western Europe India
ranks 145 among 115 counters in terms of quality and accessibility
of healthcare.

SubQuestion No : 4

Q@4 The public healthcare system provides basic healthcare
facilities
1. in all the metropelitan cities.
2. intier-1 and tie-2 cities.
3. inrural areas.
4, in restricted areas.
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2




Comprehension:

Directions : Read the passage given below and answer the guestions
that follow by choosing the correct/most appropriate options:

Healthcare has become one of India’s largest sector, both in terms
of revenue and employment. Healthcare comprises hospitals,
medical devices, clinical trials, outsourcing telemedicine, medical
tourism, health insurance and medical equipment. The Indian
healthcare sector is growing at a brisk pace due to its strengthening
coverage, services and increasing expenditure by public as well as
private players.

Indian healthcare system is categorized into two major components:
public and private. The public healthcare system comprises limited
secondary and tertiary care institutions in key cities and focuses on
providing basic healthcare facilities in the form of primary
healthcare centres (PHCs) in rural areas. The private sector provides
majority of secondary, tertiary and quaternary care institutions with
major concentration in metros and tier | and tier Il cities.

India’s completive advantage lies in its large pool of well-trained
medical professionals. India is also cost competitive compared to its
peers in European and Western countries. The cost of surgery in
India is about one-tenth of that in the US or Western Europe India
ranks 145 among 115 counters in terms of quality and accessibility
of healthcare.

SubQuestion No : 5

Q5 Which of the following words is most opposite in meaning
to the word, ‘large’ as used in para 3 of the passage?
1. narrow
2. small
3. lank
4, unimpaortant
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2




Comprehension:

Directions : Read the passage given below and answer the guestions
that follow by choosing the correct/most appropriate options:

Healthcare has become one of India’s largest sector, both in terms
of revenue and employment. Healthcare comprises hospitals,
medical devices, clinical trials, outsourcing telemedicine, medical
tourism, health insurance and medical equipment. The Indian
healthcare sector is growing at a brisk pace due to its strengthening
coverage, services and increasing expenditure by public as well as
private players.

Indian healthcare system is categorized into two major components:
public and private. The public healthcare system comprises limited
secondary and tertiary care institutions in key cities and focuses on
providing basic healthcare facilities in the form of primary
healthcare centres (PHCs) in rural areas. The private sector provides
majority of secondary, tertiary and quaternary care institutions with
major concentration in metros and tier | and tier Il cities.

India’s completive advantage lies in its large pool of well-trained
medical professionals. India is also cost competitive compared to its
peers in European and Western countries. The cost of surgery in
India is about one-tenth of that in the US or Western Europe India
ranks 145 among 115 counters in terms of quality and accessibility
of healthcare.

SubQuestion No : 6

Q@6 \What accounts for the fast growth of the Indian healthcare
sector?
1. Tax incentives forinvesting in the sector
2. State — of-art infrastructure and foreign trained
medical professionals.
3. Research work of high quality.
4. Quality treatment and liberal expenditure by public
and provide players.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2




Comprehension:

Directions : Read the passage given below and answer the guestions
that follow by choosing the correct/most appropriate options:

Healthcare has become one of India’s largest sector, both in terms
of revenue and employment. Healthcare comprises hospitals,
medical devices, clinical trials, outsourcing telemedicine, medical
tourism, health insurance and medical equipment. The Indian
healthcare sector is growing at a brisk pace due to its strengthening
coverage, services and increasing expenditure by public as well as
private players.

Indian healthcare system is categorized into two major components:
public and private. The public healthcare system comprises limited
secondary and tertiary care institutions in key cities and focuses on
providing basic healthcare facilities in the form of primary
healthcare centres (PHCs) in rural areas. The private sector provides
majority of secondary, tertiary and quaternary care institutions with
major concentration in metros and tier | and tier Il cities.

India’s completive advantage lies in its large pool of well-trained
medical professionals. India is also cost competitive compared to its
peers in European and Western countries. The cost of surgery in
India is about one-tenth of that in the US or Western Europe India
ranks 145 among 115 counters in terms of quality and accessibility
of healthcare.

SubQuestion No : 7

Q@7 wWhich of the following words is similar in meaning to the
word, ‘brisk’ as used in para 1 of the passage?
1. urgent
2. fast
3. hasty
4. active
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2




Comprehension:

Directions : Read the passage given below and answer the guestions
that follow by choosing the correct/most appropriate options:

Healthcare has become one of India’s largest sector, both in terms
of revenue and employment. Healthcare comprises hospitals,
medical devices, clinical trials, outsourcing telemedicine, medical
tourism, health insurance and medical equipment. The Indian
healthcare sector is growing at a brisk pace due to its strengthening
coverage, services and increasing expenditure by public as well as
private players.

Indian healthcare system is categorized into two major components:
public and private. The public healthcare system comprises limited
secondary and tertiary care institutions in key cities and focuses on
providing basic healthcare facilities in the form of primary
healthcare centres (PHCs) in rural areas. The private sector provides
majority of secondary, tertiary and quaternary care institutions with
major concentration in metros and tier | and tier Il cities.

India’s completive advantage lies in its large pool of well-trained
medical professionals. India is also cost competitive compared to its
peers in European and Western countries. The cost of surgery in
India is about one-tenth of that in the US or Western Europe India
ranks 145 among 115 counters in terms of quality and accessibility
of healthcare.

SubQuestion No : 8

@8  The doctor advised me to avoid fatty foods
(a) (b)
such that cakes and hamburgers
(c) (d)
1. o)
2. (a)
3. (b)
4. (d)
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2




Comprehension:

Directions : Read the passage given below and answer the questions
that follow by choosing the correct/most appropriate options:

1. And luck, is there a thing as luck? Some people seem to have
all the luck. Or is that too a matter of temperament? A nature
that doesn’t sue for happiness often receives it in large
measure. A nature that's placid, understanding, does not
suffer the same frustrations as do those who are impatient,
ambitious, power-oriented.

2. Luck would seem to walk beside the healthy and those
unencumbered by the daily struggle for survival. We try to
summon up Lady Luck, but there are long periods when she
stays away and we have to be patient and hope for her
return. ‘Luck be my lady tonight!’ sings the gambler in the
Damon Runyon story, and once in a while she does smile
upon us, albeit when least expected.

3. Luck and Chance are the same thing, | suppose. | have found
that Chance gives, and takes away, and gives again. And so,
when things are looking dark and gloomy, | know that
daybreak is not far off.

4. | have been extremely fortunate or lucky or blessed by all the
gods in that | have lived to this ripe age without too much
disappointment or distress. | have made a fair living, doing the
thing | enjoy putting words together and telling stories — and |
have been able to find people to love and live for ...

5. Wasit all accidental, or was it ordained, or was it in my nature
to arrive unharmed at this final stage of life's journey? | love
this life passionately, and | wish it could go on and on. But all
good things must come to an end, and when the time comes
to make my exit | hope | can do so with good grace and
humour.

SubQuestion No : 9

Q9 According to the authorhappiness smiles on people who
are
1. contented, diligent and patient.
2. patient, unambitious and contented.
3. contented, industrious and compassionate.
4, kind, empathetic and unambitious.
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2




Comprehension:

Directions : Read the passage given below and answer the questions
that follow by choosing the correct/most appropriate options:

1. And luck, is there a thing as luck? Some people seem to have
all the luck. Or is that too a matter of temperament? A nature
that doesn’t sue for happiness often receives it in large
measure. A nature that's placid, understanding, does not
suffer the same frustrations as do those who are impatient,
ambitious, power-oriented.

2. Luck would seem to walk beside the healthy and those
unencumbered by the daily struggle for survival. We try to
summon up Lady Luck, but there are long periods when she
stays away and we have to be patient and hope for her
return. ‘Luck be my lady tonight!’ sings the gambler in the
Damon Runyon story, and once in a while she does smile
upon us, albeit when least expected.

3. Luck and Chance are the same thing, | suppose. | have found
that Chance gives, and takes away, and gives again. And so,
when things are looking dark and gloomy, | know that
daybreak is not far off.

4. | have been extremely fortunate or lucky or blessed by all the
gods in that | have lived to this ripe age without too much
disappointment or distress. | have made a fair living, doing the
thing | enjoy putting words together and telling stories — and |
have been able to find people to love and live for ...

5. Wasit all accidental, or was it ordained, or was it in my nature
to arrive unharmed at this final stage of life's journey? | love
this life passionately, and | wish it could go on and on. But all
good things must come to an end, and when the time comes
to make my exit | hope | can do so with good grace and
humour.

SubQuestion No : 10
Q10 \which of the fellowing best describes the author of the
passage?
The author is

1. a person given to contemplation.
2. afatalist.
3. a contented person.
4. Alucky person.
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2




Comprehension:

Directions : Read the passage given below and answer the questions
that follow by choosing the correct/most appropriate options:

1. And luck, is there a thing as luck? Some people seem to have

a.

all the luck. Or is that too a matter of temperament? A nature
that doesn’t sue for happiness often receives it in large
measure. A nature that's placid, understanding, does not
suffer the same frustrations as do those who are impatient,
ambitious, power-oriented.

. Luck would seem to walk beside the healthy and those

unencumbered by the daily struggle for survival. We try to
summon up Lady Luck, but there are long periods when she
stays away and we have to be patient and hope for her
return. ‘Luck be my lady tonight!’ sings the gambler in the
Damon Runyon story, and once in a while she does smile
upon us, albeit when least expected.

Luck and Chance are the same thing, | suppose. | have found
that Chance gives, and takes away, and gives again. And so,
when things are looking dark and gloomy, | know that
daybreak is not far off.

| have been extremely fortunate or lucky or blessed by all the
gods in that | have lived to this ripe age without too much
disappointment or distress. | have made a fair living, doing the
thing | enjoy putting words together and telling stories — and |
have been able to find people to love and live for ...

Was it all accidental, or was it ordained, or was it in my nature
to arrive unharmed at this final stage of life's journey? | love
this life passionately, and | wish it could go on and on. But all
good things must come to an end, and when the time comes
to make my exit | hope | can do so with good grace and
humour.

SubQuestion No : 11

Q.11

Options 1. 1
2.2
3.3
4.4

Eal L

The author seems to believe that luck is a force which is

blind.

spiteful.

generally hostile to man.
governed by its own laws.

Question Type : MCQ

Status : Answered

Chosen Option : 2




Comprehension:

Directions : Read the passage given below and answer the questions
that follow by choosing the correct/most appropriate options:

1. And luck, is there a thing as luck? Some people seem to have

4.

all the luck. Or is that too a matter of temperament? A nature
that doesn’t sue for happiness often receives it in large
measure. A nature that's placid, understanding, does not
suffer the same frustrations as do those who are impatient,
ambitious, power-oriented.

. Luck would seem to walk beside the healthy and those

unencumbered by the daily struggle for survival. We try to
summon up Lady Luck, but there are long periods when she
stays away and we have to be patient and hope for her
return. ‘Luck be my lady tonight!’ sings the gambler in the
Damon Runyon story, and once in a while she does smile
upon us, albeit when least expected.

Luck and Chance are the same thing, | suppose. | have found
that Chance gives, and takes away, and gives again. And so,
when things are looking dark and gloomy, | know that
daybreak is not far off.

| have been extremely fortunate or lucky or blessed by all the
gods in that | have lived to this ripe age without too much
disappointment or distress. | have made a fair living, doing the
thing | enjoy putting words together and telling stories — and |
have been able to find people to love and live for ...

Was it all accidental, or was it ordained, or was it in my nature
to arrive unharmed at this final stage of life's journey? | love
this life passionately, and | wish it could go on and on. But all
good things must come to an end, and when the time comes
to make my exit | hope | can do so with good grace and
humour.

SubQuestion No : 12

Q12 The author advises people who are.down on their luck to

Options 1. 1
2.2
3.3
4.4

il L

be patient and wait for better days.
seek the advice of experienced friends.
go at the root of the problem.

work hard and trust providence.

Question Type : MCQ

Status : Answered

Chosen Option : 2




Comprehension:

Directions : Read the passage given below and answer the questions
that follow by choosing the correct/most appropriate options:

1. And luck, is there a thing as luck? Some people seem to have
all the luck. Or is that too a matter of temperament? A nature
that doesn’t sue for happiness often receives it in large
measure. A nature that's placid, understanding, does not
suffer the same frustrations as do those who are impatient,
ambitious, power-oriented.

2. Luck would seem to walk beside the healthy and those
unencumbered by the daily struggle for survival. We try to
summon up Lady Luck, but there are long periods when she
stays away and we have to be patient and hope for her
return. ‘Luck be my lady tonight!’ sings the gambler in the
Damon Runyon story, and once in a while she does smile
upon us, albeit when least expected.

3. Luck and Chance are the same thing, | suppose. | have found
that Chance gives, and takes away, and gives again. And so,
when things are looking dark and gloomy, | know that
daybreak is not far off.

4. | have been extremely fortunate or lucky or blessed by all the
gods in that | have lived to this ripe age without too much
disappointment or distress. | have made a fair living, doing the
thing | enjoy putting words together and telling stories — and |
have been able to find people to love and live for ...

5. Wasit all accidental, or was it ordained, or was it in my nature
to arrive unharmed at this final stage of life's journey? | love
this life passionately, and | wish it could go on and on. But all
good things must come to an end, and when the time comes
to make my exit | hope | can do so with good grace and
humour.

SubQuestion No : 13

Q13 wWhich of the fellowing words is most opposite in meaning
to the word, ‘gloomy’ as used in para 3 of the passage?

1. irritating

2. indigent

3. lusterless

4. cheerful
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2




Comprehension:

Directions : Read the passage given below and answer the questions
that follow by choosing the correct/most appropriate options:

1. And luck, is there a thing as luck? Some people seem to have
all the luck. Or is that too a matter of temperament? A nature
that doesn’t sue for happiness often receives it in large
measure. A nature that's placid, understanding, does not
suffer the same frustrations as do those who are impatient,
ambitious, power-oriented.

2. Luck would seem to walk beside the healthy and those
unencumbered by the daily struggle for survival. We try to
summon up Lady Luck, but there are long periods when she
stays away and we have to be patient and hope for her
return. ‘Luck be my lady tonight!’ sings the gambler in the
Damon Runyon story, and once in a while she does smile
upon us, albeit when least expected.

3. Luck and Chance are the same thing, | suppose. | have found
that Chance gives, and takes away, and gives again. And so,
when things are looking dark and gloomy, | know that
daybreak is not far off.

4. | have been extremely fortunate or lucky or blessed by all the
gods in that | have lived to this ripe age without too much
disappointment or distress. | have made a fair living, doing the
thing | enjoy putting words together and telling stories — and |
have been able to find people to love and live for ...

5. Wasit all accidental, or was it ordained, or was it in my nature
to arrive unharmed at this final stage of life's journey? | love
this life passionately, and | wish it could go on and on. But all
good things must come to an end, and when the time comes
to make my exit | hope | can do so with good grace and
humour.

SubQuestion No : 14

Q14 \Which of the following words mean the same as
‘encumbered’ as used in para 2 of the passage?

1. free
2. unemotional
3. contented
4. cheerful
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2




Comprehension:

Directions : Read the passage given below and answer the questions
that follow by choosing the correct/most appropriate options:

1. And luck, is there a thing as luck? Some people seem to have

a.

all the luck. Or is that too a matter of temperament? A nature
that doesn’t sue for happiness often receives it in large
measure. A nature that's placid, understanding, does not
suffer the same frustrations as do those who are impatient,
ambitious, power-oriented.

Luck would seem to walk beside the healthy and those
unencumbered by the daily struggle for survival. We try to
summon up Lady Luck, but there are long periods when she
stays away and we have to be patient and hope for her
return. ‘Luck be my lady tonight!’ sings the gambler in the
Damon Runyon story, and once in a while she does smile
upon us, albeit when least expected.

Luck and Chance are the same thing, | suppose. | have found
that Chance gives, and takes away, and gives again. And so,
when things are looking dark and gloomy, | know that
daybreak is not far off.

| have been extremely fortunate or lucky or blessed by all the
gods in that | have lived to this ripe age without too much
disappointment or distress. | have made a fair living, doing the
thing | enjoy putting words together and telling stories — and |
have been able to find people to love and live for ...

Was it all accidental, or was it ordained, or was it in my nature
to arrive unharmed at this final stage of life's journey? | love
this life passionately, and | wish it could go on and on. But all
good things must come to an end, and when the time comes
to make my exit | hope | can do so with good grace and
humour.

SubQuestion No : 15

Q.15

Which part of the following sentence contains an error?

He knew  that his partner  will not be able

(a)

(b) (c)

1o solve the problem

Options 1. 1
2.2
3.3
4.4

PN

(d)

(d)
(a)
(c)
(b)




Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.16  Which of the following could you place as the most suitable assessment task for learners’ ability to develop speaking
(communication) skills?

. Writing a speech in a given situation.

. Describing a scene from play.

. Listening to an audio text and responding to it.
. Playing a character in a role play.

2w N

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.17  Which of the following is NOT true of language learning and acquisition?

1.  All children can learn many languages, if given opportunity and environment.
2. First language interferes in the learning of second language.
3.  Language learning should begin from meaning and move to understanding form.
4.  First language support learning of second language.
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.18 Aclassroom in primary classes has cartoon books, small books of ten pages with lots of illustrations and a newspaper
for learners to read as and when get time? What dqgsthe classroom a:tigmpt to do here?

1. Creating a print rich environment.
2. Develupingreadin:_g"fiabitfjuf'leameﬁ'.
3 Creating’fi‘iéadiﬁgigm:i-lps among learners.
4. Creating an academic environment.
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1




Q.19 Jeeva reads a text looking for some specific information. What is this reading known as?

1.  Scanning
2. Skimming
3.  Rapid reading
4. Intensive reading
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.20 Which one of the following is ‘assessment for learning’?

1. Assessment designed by organizations at the regional level to monitor students’ progress at the end of
the term.

2. Assessments designed to know students’ progress at the end of the year.

3. Assessments designed to monitor and improve students” progress during the teaching-learning process.

4. Assessment activities like national achievement surveys.

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q.21 Which one of the following is NOT true of learning languages?

1. Mother tongue supports better cognitive growth.
2. Mother tongue interferes in the learning other languages.
3. Mother tongue facilitates interpersonal communication skills.
4, Learning in mother tongue promotes conceptual understanding.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2




Q.22 Moving from meaning to form in grammar learningis___

1. learners use the grammatical item with understanding and discover the rules later.
2. learners are made to learn the rules first and apply them later,
3. teacher teaches the rules first and learners use the rules through drills.
4. learners understand rules of the grammatical item first and use them later in isolation.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option: 1

Q.23  Ateacher of class Il while teaching her learners adjective asks her learners to list out the words which describe the
person or things in the given sentences through discussion with peers. What is this way of teaching vocabulary known

as?
1. Word connections
2. Describing words
3. Adjectives in contexts
4. Vocabulary in context
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.24 What is ‘Engagement with language’?

1. Learners learn the rules of language.

2. Teachers work with learners for language learning.

3. Learners decode the words and sentences without understanding their meaning.
4. Learners work in and work with language for purposes

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2




Q.25 Ateacher demonstrates in class | how to write the letters of the alphabets. She describe where to start and how to
move for writing the letters of the alphabets. What does she try to make her learners understand?

1. Writing skills
2. Writing rubrics
3. Mechanics of writing
4.  Hand-eye coordination.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.26 \Which approach to writing could be stated as ‘learning to write by writing’?

1. Process approach

2. Product approach

3. Imitating someone’s writing
4. Writing in pointers

Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.27 What is the structure of school education as recommended by the National Education Policy 20207

1. S5+43+3+4
2. 2+3+3+4
3. 245+3+2+2
4, 54343+2+2
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option: 1




Q28 | anguageis
1. alinguistic arrangement
2. asystem of systems
3. adevelopmental grammatical system.
4.  of letters and sounds.
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option: 1

Q.29 (Children scribble on walls, floors and papers during the early years? This .

1. s part of emergent literacy
2. has no value for learning
3.  is mathematics learning
4.  islanguage learning
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.30 \What is productive vocabulary?

1. Words which we recognize as.we hear and read.
2. Words which we may recall when one speaks.
3. Words that we use in writing and speaking.
4, Words which we fails to recognize while listening and writing.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3




